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Graph

A Squirrel starts at bui ld ing 4 at time = 0 and travels along a

Straight wire connected to bui ld ing B. For 0 < < 18, the aT

Squirrel's veloci ty is modeled by the piecewise-linear function
defined by the graph. .
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(a) At what times in the interval 0 < ! < 18, i f any , does the squirrel change direction? Give a reason for your

answer.
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(b) A t w h a t t i m e in t h e in te rva l 0 < ¢ < 18 is the s q u i r r e l fa r thes t f r o m b u i l d i n g 4 ? H o w fa r f r o m b u i l d i n g A i s the

squirrel at this time?
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(c) Find the total distance the squirrel travels dur ing the time interval 0<
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(d) Write expressions for the squirrel?s acceleration a(t ), velocity v(z ), and distance x ( t ) from building A that are

validfo r the time interval 7 < ¢< 10,
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